Argyll & Bute Council

Transfers Report

This report contains the transfers results.

Contest Name	Ward 4 - Oban South and the Isles

This report contains the transfers results.

Stage 3 - Exclusion of John WATSON

120.02300

Clage of Exclasion of Conn. With Con			120.02000
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gopi AGEER	7	1.00000	7.00000
Transfer to Henry Drummond BOSWELL	9	1.00000	9.00000
Transfer to Donnie CAMPBELL	12	1.00000	12.00000
Transfer to Amanda HAMPSEY	8	1.00000	8.00000
Transfer to Willie HUME	3	1.00000	3.00000
Transfer to Andrew KAIN	9	1.00000	9.00000
Transfer to Colin KENNEDY	12	1.00000	12.00000
Transfer to Jamie MCGRIGOR	34	1.00000	34.00000
Transfer to Phyl Stuart MEYER	11	1.00000	11.00000
Transfer to Gopi AGEER	1	0.05950	0.05950
Transfer to Henry Drummond BOSWELL	1	0.05950	0.05950
Transfer to Donnie CAMPBELL	3	0.05950	0.17850
Transfer to Willie HUME	10	0.05950	0.59500
Transfer to Andrew KAIN	3	0.05950	0.17850
Transfer to Colin KENNEDY	2	0.05950	0.11900
Transfer to Jamie MCGRIGOR	5	0.05950	0.29750
Transfer to Phyl Stuart MEYER	3	0.05950	0.17850
No further preference	13	1.00000	13.00000
No further preference	6	0.05950	0.35700
Not transferred due to rounding			0.00000
	Total		120.02300

Report Name: Transfers_V0004_Ward-4---Oban-South-and-the-Isles_06052022_143130.pdf Created: 06-5-2022 14:31:30

This report contains the transfers results.

Stage 4 - Exclusion of Gopi AGEER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Henry Drummond BOSWELL	57	1.00000	57.00000
Transfer to Donnie CAMPBELL	10	1.00000	10.00000
Transfer to Amanda HAMPSEY	19	1.00000	19.00000
Transfer to Willie HUME	9	1.00000	9.00000
Transfer to Andrew KAIN	10	1.00000	10.00000
Transfer to Colin KENNEDY	7	1.00000	7.00000
Transfer to Jamie MCGRIGOR	12	1.00000	12.00000
Transfer to Phyl Stuart MEYER	23	1.00000	23.00000
Transfer to Henry Drummond BOSWELL	4	0.05950	0.23800
Transfer to Willie HUME	5	0.05950	0.29750
Transfer to Jamie MCGRIGOR	1	0.05950	0.05950
Transfer to Phyl Stuart MEYER	1	0.05950	0.05950
No further preference	29	1.00000	29.00000
No further preference	2	0.05950	0.11900
Not transferred due to rounding			0.00000
	Total		176.77350

This report contains the transfers results.

Stage 5 - Exclusion of Jamie MCGRIGOR

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Henry Drummond BOSWELL	27	1.00000	27.00000
Transfer to Donnie CAMPBELL	22	1.00000	22.00000
Transfer to Amanda HAMPSEY	43	1.00000	43.00000
Transfer to Willie HUME	9	1.00000	9.00000
Transfer to Andrew KAIN	40	1.00000	40.00000
Transfer to Colin KENNEDY	33	1.00000	33.00000
Transfer to Phyl Stuart MEYER	9	1.00000	9.00000
Transfer to Henry Drummond BOSWELL	2	0.05950	0.11900
Transfer to Donnie CAMPBELL	3	0.05950	0.17850
Transfer to Amanda HAMPSEY	2	0.05950	0.11900
Transfer to Willie HUME	2	0.05950	0.11900
Transfer to Colin KENNEDY	3	0.05950	0.17850
Transfer to Phyl Stuart MEYER	6	0.05950	0.35700
No further preference	42	1.00000	42.00000
No further preference	13	0.05950	0.77350
Not transferred due to rounding			0.00000
	Total		226.84450

Argyll & Bute Council

Transfers Report

This report contains the transfers results.

Action	No. of Ballot Papers	Transfer Value	Votes Transferred

This report contains the transfers results.

Stage 8 - Exclusion of Colin KENNEDY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Amanda HAMPSEY	44	1.00000	44.00000
Transfer to Willie HUME	52	1.00000	52.00000
Transfer to Andrew KAIN	90	1.00000	90.00000
Transfer to Phyl Stuart MEYER	28	1.00000	28.00000
Transfer to Amanda HAMPSEY	1	0.05950	0.05950
Transfer to Willie HUME	7	0.05950	0.41650
Transfer to Andrew KAIN	2	0.05950	0.11900
Transfer to Phyl Stuart MEYER	3	0.05950	0.17850
No further preference	190	1.00000	190.00000
No further preference	10	0.05950	905956B/50

This report contains the transfers results.

Stage 9 - Surplus of Willie HUME

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrew KAIN	158	0.06443	10.17994
Transfer to Phyl Stuart MEYER	291	0.06443	18.74913
Transfer to Andrew KAIN	35	0.00383	0.13405
Transfer to Phyl Stuart MEYER	265	0.00383	1.01495
No further preference	285	0.06443	18.36255
No further preference	236	0.00383	0.90388
Not transferred due to rounding			0.00578
	Total		50.07050

This report contains the transfers results.

Stage 10 - Exclusion of Phyl Stuart MEYER

Action	No. of Ballot Papers	Transfer Value	
Transfer to Amanda HAMPSEY			-